BLUE-LIne

by SGF/MMB

The Newest Marine Coupling Technology

HexaFlex-Blue

See overleaf for more details.



HexaFlex-Blue Couplings
For a smooth marine driveline

Mounts on the output side between the gearbox and shaft

Reduces vibrations and resonance in the hull

Centred design with strengthened shear support

Extends the life of surrounding driveline components

Standard solutions available for ZF, YANMAR and VOLVO gearboxes
Special flange geometries and customized solutions available on request

Advantages:

Transfer of high torque with a small coupling size

No additional adapters necessary

Eliminates axial, angular and radial misalignments

Special fabric design of the coupling ensures axial separation of the propeller shaft from the gearbox
Customized hole patterns for the gearbox flange connection at no extra charge
Easy fitting and removal without moving the gearbox or propeller shaft

Easy bolted attachment of the propeller shaft with optional extra anti-twist device
Flange and shaft connections made of stainless steel

Also ideally suitable for aluminium hulls

Maintenance-free and very durable, of course

Contact:

SGF GmbH & Co. KG Maschinenfabrik Ménninghoff GmbH & Co. KG
Graslitzer Str. - 84478 Waldkraiburg - Germany Bessemerstr. 100 - 44793 Bochum - Germany

Tel. +49 8638 605-0 - Fax +49 8638 605-111 Tel. +49 234 3335-0 - Fax +49 234 3335-200
vertrieb-tec@sgf.de - www.sgf.de sales@moenninghoff.de - www.moenninghoff.de



M6x20 - 10.9 1S04762
Ta= 14 Nm (trocken/ nof greased)

31338-08039 (GAC00-013)

Stover-Mutter M12

31338-08040

16.5

\

DL

13 1SQ7089

Tp= 85 Nm

| 31338-08038
| /

? 16

28

$25..38"7
360

d=

I L J )
? 40
T
I

=N

\a

2

U |
i
LL Y /\ 3
33
43
50
120
M12x40 - 10.9 1S04762
Tp= 85 Nm
13 1S07089 mit Lactite 243 gesichert

Kupplungsdrehmoment Tk = 260 Nm

Torque of clutch Tk = 260 Nm
The forque depends on the bore

M12x55-10.9 IS04762

Drehmomente/ torgue

/ Das Drehmoment ist abhdngig vom Tk=Nm
= D 1 Bohrungsdurchmesser'd’ der Klemmnabe, diameter 'd’ of the clamping hub. 260 ‘
siehe Kennlinie. See characteristic curve. )
H 240
» Drehzahl Nmax. = 6500 1/min speed MNmax. = 6500 1/min 220
10 Beugewinkel = 3° bending angle = 3°
ol 3 g H 200
Sl s o| e Tragheitsmoment | = 0,00627 kg m? Inertia | = 0,00637 kg m2 25 30 35 38 .
© i Gewicht m = 413 kg weight m - 413 kg
Index
H And.-Nr.
Flanschnaben aus 1.4021, Schrauben und Flanged hub out of 14021 Screws and Datun/Name / / / / / / /
*% Scheiben korrosionsbestdndig beschichtet. discs with corrosion-resistant coating. WE[”:’D“”: — - [sewent
> mlmesl 1 MOonninghoff
Geproft 09.08.10 pe Allgemeintoleranzen waerﬂuchen D\Ny\so 1302
Einbauanweisung nach T24.0102 beachten! Follow mounting instruction T24.0102! orngepri IS0 2768-mH V- ¥Rz 100 v-¥Rz 10
gefertial aus: Manstab: Tol.-Gr. ISO_8015 ¥-Rz75 ¥ YRz Z
119 D D1 | D2 M t n x a | Getriebe/ gear box P e AL HexaFlex-Kupplung )
635 | 825 | 105 M10 14 4 x 90° ZF 25 A Typ 313.38.11 - Blue Line
Eigentum und Urheberrecht stent der Zeichnungs-Nr: Malichcode:
— rescvaions romrret son s | 3133806022 fr
Passung | AP™" | schutzvemerk nach DN 3¢ beachtenl  [Erorur |
1 2 4 | | 5 6 7 8 Druckdatum: - DIN AZ




2 | 4 | | 5 6 7 8 | | 9 10 1 12
31342-08029 (GA000-029) 13 1IS07089
MB8x25 - 10.9 ISO4762
Tp= 33 Nm (frocken/ not greased) Slover-tutter M1z M12x60-10.9 1S04762
31342-08046 Ta= 85 Nm
auftragsabhangig
according to order
* . t
N 31342-08040
o ° | 18
|
7 \ /7 /
£ H Ne} L' T
-~ ~ Q
4 s BE S
T 0 N _
N D T ] et
Il
S | 1 3 -
Nllis :
He ¥ S
N j SSS s 7 |l
I P |
N_ |
)4
N 3
2
36
40 50
125
A-A
t M12x45-10.9 1S04762
Ta= 85 Nm
13 1SO7089 mit Lactite 243 gesichert Drehmaomente/ torque I'--T
Tke :
Kupplungsdrehmoment Tk = 420 Nm Torque of clutch Tk = 420 Nm kenm
. 3 i Das Drehmoment ist abhdngig vom The torgue depends aon the bore 42210 /
V H N Bohrungsdurchmesser 'd’ der Klemmnabe, diameter 'd" of the clamping hub. /
l siehe Kennlinie. See characteristic curve. 390 /
I /
o v Drehzahl M pax = 6000 V/min speed Mo, = 6000 1/min 370 1/
N o " = Beugewinkel = 3° bending angle = 3° 350
s 5 P g 25 30 35 40
o) | Tragheitsmoment | = 0,0096 kg m? Inertia | = 00096 kg m? d=mn
Gewicht m =53 kg weight m =53 kg :dsz
H Datum/Name / / / / / / /
Flanschnaben aus 1.4021, Schrauben und Flanged hubs out of 1.4021. Screws and Werkstoff: |5mh'=
Y Scheiben k bestdndig beschichtet. discs with corrosion-resistant caating. CAD | Datum | Mame = =
[ cheiben korrosionsbestdndig beschichte a S Py R Monnlnghof'
Geproft 01.09.10 pe Allgemeintoleranzen Oberfldchen DIN 1SO 1302
Einbauanweisung nach T24.0102 beachten! Follow maunting instruction T24.0102! ormgeprif ISO 2768-mH Y- YRz 700 Y- YRz O
5 Gefertigl aus: Nanstab: Tol.-Gr. ISO_8015 ¥-vRz 25 ¥-Rz &
D D1 D2 M t n x a | Getriebe/ gear box — 11 |HexaFlex-Kupplung
635 | 825 | 105 M10 15 4 x 90° ZF 25 A get, werden aus Typ 313.4211 - Blue Line
10 635 [ 108 [ 128 [ M0 | 15 | 4x90° ZF 45 A g s Umeverecnt s g [2ECH NG N alchcode
— st e G 8.0 31342-06019 —
Passung | AP™" | schutzvemerk nach DN 3¢ beachtenl  [Erorur [Ersourcr
2 4 | 5 6 7 8 Druckdatum: - DIN AZ




\ 2 \

4 | | 5 | 6

7 8 ||

M10x25 - 10.9 ISO4762
Ta= 65 Nm (frocken/ nat greased)

@

31360-03003 (GAOCOO-015)
Stover-Mutter M16
31360-08055

17 1SQ7089

M16x70-10.9 1S04762

/ Ta= 150 Nm

®90

$30..50"7

® 65
(r_
d

~
©
S
S \
o -~
@ ~
by S
N
3
2
35
69

43

58

163

\ M16x50-10.9 ISQ4762
Ta= 150 Nm

T
?164

°
1 31360-08056 /&
3

A

mit Loctite 243 gesichert

H
_< 17 1S07089
Zt V Kupplungsdrehmoment Tk = 740 Nm Torgue of clutch Tk = 740 Nm
H
Drehzahl N max. = 6000 1/min speed  Nmax. = 6000 1/min
~ 10 Beugewinkel = 2° bending angle = 2°
a —
Q a
=/ e| un
g g Tragheitsmoment | = 0,03055 kg m? Inertia | = 0,03055
Gewicht m = 10,9 kg weight m = 10,9 kg —
ndex
AT And.-Nr.
Flanschnaben aus 1.4021, Schrauben und Flanged hubs out of 14021 Screws and [Betun/Nome ! ! ! ! J ! | ! !
Werkstoff: G ht:
H Scheiben korrosionsbestandig beschichtet. discs with corrosion-resistant coating. D — — — — o
m el - Monninghoff
L ' Einbauanweisung nach T24.0102 beachten! Follow mounting instruction T24.0102! Gepraft | 09.08.10 pe Allgemeintoleranzen Oberfléchen DIN ISO 1302
/ ormgepruf ISO 2768-mH Y- YRz 700 Y- YRz O
/ Geferfigl aus: Mastab: Tol.-Gr. ISO 8015 Y- Rz 75 ¥-YRz 4
2 7 D D1 D2 M t n x a | Getriebe/ gear box kann gef. werden aus 111 HexaFlex-Kupplung .
635 | 825 | 105 | M0 | © 7 x 90° 7F 25 A Typ 3136011 - Blue Line
10 Eigentum ung Ueberrecht sient ger | ZEiChnUNgs-Nr: Malchcode:
— st e G 8.0 31360-06029 —
Passung | AP™" | schutzvemerk nach DN 3¢ beachtenl  [Ero i [Ersourcr
2 4 | | 5 6 7 8 Druckdatum: -

DIN AZ




M10x25 - 10.9 IS04762
Ta= 65 Nm (irocken/ not greased)

31370-08035

©180

(GAOOD-018)

Staver-Mutter M16

31370-08041

auftragsabhiingig

17 1507089

M16x70-10.9 1504762

B42

£

35

68

G

o

43

58

165

TA: 150 Nm
31370-08038
£
41 1 F A Bl e
— T T = by
B Ao K A
S i
N 3
N 1 H
r \ o
R
W I s
“ﬁ//////E-

A - A M16x55-10.9 I1S04762 D D1 D2 M t n x a_| Getriebe/ gear box
T - 150 Nm 635 | 108 | 130 | M0 | 15 | 4x50° ZF (S A/ZF 63 A
A 635 | 108 | 130 | M@ 16 4 x 90° Yanmar LT-TE
mit Loctite 243 gesichert
t \ 17 1507089
H Drehmomente/ torque
Zt N _‘_ Tk=Nm
1120
1 N
B Kupplungsdrehmoment Tk = 1120 Nm Targue of clutch Tk = 1120 Nm
Das Drehmoment ist abhdngig vom The torque depends on the bore 950
| Bohrungsdurchmesser 'd’ der diameter 'd' of the clamping hub.
10 S Klemmnabe, siehe Kennlinie. See characteristic curve.
8 [
= ©
© g g \Sf Drehzaht Npax, = 6000 1/min speed Npax, = 6000 1/min 700
Beugewinkel =2° bending angle = 2° 30 40 50 60 70
] d=mm
Trdgheitsmoment | = 0,04913 kg m? Inertia | = 0,04913 kg m?
Gewicht m = 14,13 kg weight m = 14,13 kg
ndex | | | | | | |
Flanschnaben aus 14021, Schrauben und Flanged hubs out of 14021, Screws and Ao 7 I 7 I 7 I 7 I 7 I 7 I 7 I 7
{ YV\ Scheiben korrosionsbestandig beschichtet discs with corrosion-resistant coating. [Werkstoft: |sem<m
CAD | oatm | Name — =
. =orel ] _Monninghotf
e eprirt | 09.08.10 pe ‘Allgemeinfoleranzen CberflGchen ON 1501502
Einbauanweisung nach T24.0102 beachten! Follow mounting instruction T24.0102! ; 1SO 2768-nH Y. Rz 70 YRz
| Ioeerigr oue Manstab Tol.-Gr. ISQ 8015 ¥- R 25 Y-SRz Z
oo vea | 11 | HexoFlex-Kupplung
Typ 3137011 - Blue Line
I v ———— LT fatcheode:
s —{ =TS e | 31370-06024 |y
Passung | 42792 | - schuavermer nach on 3¢ beacten [T [Ersidurch
2 3 Z T 1 7 Cl g E T T 7 B Druckdatun: - N A1




4 | | 5

7 8 | | 9

M16x40- 10.9 1S04762

31398-08036 (GA000-027)

Stover-Mutter M20

21 1S07089

M20x80-10.9 1SQ4762

A Ta= 250 Nm (trocken) Ta= 360 Nm
31398-08043
B
=
4 o I | T Q
N 10 S| &
c s| O 2| % - ‘ N e
u o -
© s 375 S S
2 S
A O
1 1 o
] &
17 \ N
v /A
0 | i-ﬁ
Py
®
; — 31398-08042
B N K /f 3
2 43
E
60
Kupplungsdrehmoment Tk, = 2000 Nm 12
Das Drehmoment ist abhangig vom
— Bohhruansdquch‘messer d" der Klemmnabe, . M20x60-10.9 1S04762
| siehe Kennlinie T - 360 Nm
mit Loctite 243 gesichert
F Drenzanl Nmax. = 4000 1/min D D1 D2 M t nxa Getriebe/ gear box
Beugewinkel = 2° 635 | 108 [ 130 M10 15 B x 45° HBW
Tragheitsmoment | = 0,12532 kg m? 211507089
Gewicht m = 20,54 kg 155
Einbauanweisungen nach T24.0102 beachten!
G Tarque of clutch Tk pax = 2000 Nm Drehmomente/ torgue index
Tk=Nm And-Nr.
The torque depends aon the bore Datum/Name 7 7 7 7 7 7 / /
diameter 'd" of the clamping hub. 2000 Werksoff: |agwm:
See characteristik curvel CAD Datum Name = -
- 1800 oo o] MIONNINghoff
Geproft 09.08.10 pe Allgemeintoleranzen Oberfldchen DIN 1SO 1302
speed Mmax. = 4000 1/min Ew:pf IS0 2768-mH Y- yRz 700 Y- YRz 1
bending angle = 2° 1500 oeferigl aus: prov—— Tol.-Gr. IS0 8015 Y-Rz7 75 ¥ YRz L
H Imertia | = 0,12532 kg m? D T 1:1.5 |HexaFlex - Kupplung .
weight m = 20,54 kg 1200 Typ 313.98.11 - Blue Line
40 50 60 70 Eigentun und Urheberrecht stent der | Z8ichnungs-Nr: Malchcode
| . — Hescmars K G 5. K6 31398-06018 —
Follow mounting insfruction T24.0102 Passung| A28 | schuizvermerk moch DN 3¢ beschient (2o [Ereuwcre
1 2 | 4 | | 5 6 7 | 8 Druckdatum: - DN A2




NN NN
NN\

AN

ANERNERN
NONON N

Index

And.-Nr.

Datum/Name

/

/ / /

Werkstoff:

|Gewicht:

CAD

Datum

Name

Gezeichnet

29.04.10

pe

Monninghoff

Gepruft

29.04.10

pe

Allgemeintaleranzen

INormgepriift

gefertigt aus:

kann gef. werden aus;|

Mafstab:

A.

ISO 2768-mH
Tol.-Gr. ISO 8015

Oberfldchen DIN ISO 1302
Y- YRz 700 ¢-vRz 0
¥-YRz 25 4- YRz 4

HexaFlex-Kupplung
Typ Blue Line

Matchcode:

Eigentum und Urheberrecht steht der

ISO
Passung

Abmafe

Maschinenfabrik Ménninghoff GmbH & Co KG
44793 Bochum zy
Schutzvermerk nach DIN 34 beachten!

Zeichnungs-Nr:

Verstarkte Schubabstutzung [art:

Ers. fur:

|Ers.durch:

Druckdatum: -

DIN A3




